R:AClients\Premier Products PERMANENT\A - Florida Product Approvals\FL-17460\C - Drawings\FL-17460 (2020)\FL-17460.1-4.dwg, FL-17460.1

\\\\\\\ ) --* I L7 7 ’,,
RO W,
A / “ o
n C S 9z 2
’ ° S £z 8
. = 0§§ j g: <=2 3
2840 Sterlington Road Z®9 e/ 8. %5n
- e o ~{} . -
Monroe, LA 71203 520" MAX. O.A. De3 SPT2E98
FRAME WIDTH R S Stu
“u, Pﬁ\“\ 3 .1mZ
LTI ZJwo
& ON =3B
[ R
" " SH %8 g% ey
] 2% =ooQ
SWR-S18-4 Sl 0% BB
ale .
SEVERE WINDSTORM RATED e§
18 3
STEEL DOOR ==
| oaE
OUTSWING i s | &
T - a
"NON-IMPACT" O g | 3
o S | g¥
a |, 24
= e |4l =<°
S Do
L. ~d
< X il 1
O I N
> gl £ |8 gg’}
< Q =l
GENERAL NOTES = 2 5o«
Q
[+ 0]

1. This product has been evaluated and is in compliance with the 7th Edition (2020} Florida o Q 2%
Building Code (FBC) structural requirements excluding the "High Velocity Huricane Zone" o
(HVHZ). 12

&
[»]

2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to § ~

base material shall be beyond wall dressing or stucco. \f& %
Bis| 1©

3. When used in areas requiring wind borme debris protection this product is required to be x ':‘; g
protected with an impact resistant covering that complies with FBC Sections 1609.1.2 & ‘ NG Al
R301.2.1.2. Llo

==

4. Site conditions that deviate from the details of this drawing require further engineering o §

analysis by a licensed engineer or registered architect. 2 =)
o
NNE
TABLE OF CONTENTS N =)
SHEET# | DESCRIPTION 2o =
1 Typical elevations, design pressures, & general notes MAX. DESIGN PRESSURE (PSF) Nz
2 Doc?r panel de’rqils - OVERALL oATE: 12/11/15
3 Hoqzonfal & verhco!.cross sections DIMENSION POSITIVE | NEGATIVE st NTS.
4 Horizontal cross sections owe. B UK
5 Frame anchoring " " + . o
6 Bill of materials and components 52.0"X98.0 50.0 50.0 CHK. BY: LFS
DRAWING NO.:
FL—17460.1

sHEET 1 oF 6

© 2015 R.W. BUILDING CONSULTANTS INC.



‘ON| SINVLAINSNGD 9NIgHNg ‘M's G102

©186 ON Ansibey 3484 SNOISIAZY
LEL6°6S9°CL8 "ON suoud X8 J1v0 [ON}w ~ o
GBGEE 14 ‘OSMIPA ‘0£Z Xog ‘O'd \\\wn\/m STvL3a 13NV 5003 S41| 084 (¢10z) "a3 H19 o1 3wvadn| ¢1/oz/6] 1 || Ui m 2 r_
,,:.mi .sz«ﬁ:mzoo ONIgINg A1BW3SSY MO Luvd {5471 084 (02Zoz) a3 Hi/Z Ol 3ivadn|oz/80/6 | Zz | = M X °
W\ 14, N i 2 -l
0¢w .w.\m.%\e\ 80¥CY ‘ON ‘I'd ONI ‘S1ONA0Yd HFININd S 1EEle ,
....&DEON% ., \\\ IPIWYDS *4 UOpukT gi SlelelE il
' uON.—.(._.Wr ....w\\w :Ag peJbdeiq sjuUBLINDO(Q :10NAaoyd S m g3 w %
w02 0707 ‘6 Joqueidas
* P¥=
80VEYON ¢ S \
»OI .II ,I
(G S
\\\ Stum /////
TN
g
a4 Z
O x5
i 35 %
=z 20 O
Oo &=
5= ¢
a &
[7,}
o Q.i Fe T T m
o= ‘J..‘M.U”.J_u.U_xJ.L‘ﬁ.JL‘mUHQe. ” ot
£ E Ll e nv. m
M. & O N OOy —
05 ac
& /m w S
— - ] INI [2%4
O ] o
& %4 O =
O = = I <
P 75 Wm a @)
= < L — -
(TN
O |
B >
e
[Z2)
O
—t
O
7% ]
Ll
oc
1%
b
a
- 5 £ S
w X o
i C sed
Q ) <
o) F 2]
L — = =
= Ll i~
T -~ =
oy b b —
AL JA w..u
O < = o
Q0
o
A —
2 )
2 3
= i G
o M e
= Q
S
Joven
2 5
<
(%
g o _ 95°6€ =
2 i 2
8 vv g
— [a]
A .y e .
= | © s
‘wd
o o O o N
9 g = $ 3¢
& o o< a. oo
z S %5 8 Eo
¥z _| S =8
Y kv e — B 2t
N Z 3 © o Mav.,
— ¥ & S 3L
g 2 35
[ & a. < O
2 r 8 g:
M v @
g . & LE
O L. 10 ., W
& = .
o5 %<
55 e
il
B9 ONIOVS JONIH . o
) XYW 552 WGl = gy
2 £S
&0
— LTHOEH 1INV XYW .ST1S6 -

L2 ‘BmMpy-1'097£1L-14\0202) 09vLL-Td\sBumesq - D\09v . L -14\s|eroiddy 10npoud epuold - YALNINVINYI S19NPOid JSIuBId\sIU3ID\Y



TAON| SANVLINSNDOD oNiging

‘MY SLDZ O

FHiy

£186 'ON Ansibey 3Idg4 SNOISIATY
L616°6S9°CL8 'ON euoyd SNOILOZS  SSO4D X8 3Ivd_[ON|w e
S6SEE 14 ‘93LIPA ‘0CZ Xo8 ‘0'd \va&y WOILYIA % IYINOZIYOH S41| 083 (£10z) 3 HI9 0L 3vadn| z1/0z/6] L |<|vi|X |0 3 r_
Wil SINVAINSNOO ONIgTing X1GW3SSY M0 13vd [s47| 084 (0z0z) "a3 HLZ OL 31vadn|oz/80/6 | z | =|% . 5|8
//fa ss\\ N Z o _1/1
////4@ JNQO\@%\\ 80¥S¥ "ON ‘I'd "ONI ‘S1ONA0Yd Y3IN3Yd = £lgle | 3_
IIII.W/&.....MDEON..M ....&\\\\\ IPIWIYDS ‘4 uopuk “ “ M M W o &
~ ~ d403Ivis .... :Ag pespdesd sjuswinooq :LONQodd M m 2|3 m %
F A ¢ s e 0z0zZ ‘4 Jequisidag
n* m ¥ .m *“
-, 60VEY 'ON ;=
\\\ .,.. s :W
*e »* "
\\\\\ .\Q..\.Wmﬂm.mmauw\///ﬁ
LT
iy
¢ v
< : D 7e
| . @
. Wt id v -
v .4 4v =
) v - m
g . Cd St > a
q « R 4 =
A, ~ N N 4 , . “
v T 9 W m ; 7 ®)
J o i ) . g oc
v — C i U ’ C
< w v —
< “ g <
v : {77 © “ o < P.l.b
I Q O . >
v I ~ O R v ¢ 7 W
X v M Tvm .
. 1] v
U 2 e mW
| N & (‘dAL) "awa
> "NIW #/€-1
874
oz
LL}
T
>
LLi

1-1/2" MIN.
EMB. (TYP.)

D

q

1. Spot weld anchor bracket to frame:
2 welds per flange (4 total per bracket).

NOTES:

SESPSMSY

SEE NOTE 1 (TYP.)

1-1/2" MIN.
EMB. (TYP.)

)
11

INTERIOR

I/

//

B @

L9

O
O

.9

Al

=

. B
. <
v .
- oy
o <
Al <
v
\/\v

m HORIZONTAL CROSS SECTION
W Shown w/ Concrete Jamb Anchor

m HORIZONTAL CROSS SECTION
\‘?‘/ Shown w/ Concrete Jamb Anchor

1€ 'BMpp-1'0972L-14\0202) 09vLL-Td\sBuimesd - D\O9vLL~Td4\s{eaolddy 1onpoud epuOld - WALNINVIWYI SINPOI4 JaluId\siuaiD\y



RaClients\Premier Products PERMANENT\A - Florida Product Approvals\FL-17460\C - Drawings\FL-17460 (2020)\FL-17460.1-4.dwg, 4.1

Ae-AilddAa-Ae-A

NOTES:
1. Spot weld anchor bracket to frame:

2 welds per flange (4 total per bracket].

SEE NOTE 1 {TYP.)

>

7“1\ HORIZONTAL CROSS SECTION

_ 21/8"MIN.
EMB. (TYP.)

w Shown w/ Concrete Jamb Anchor

INTERIOR

INTERIOR

//
7/

\\
A\

8

=

\\

MORTAR REMOVED
FOR CLARITY.

EXTERIOR

NN

MORTAR REMOVED
FOR CLARITY.

7“2\ HORIZONTAL CROSS SECTION

w Shown w/ Masonry 'T' Anchor

INTERIOR

>

MORTAR REMOVED
FOR CLARITY.

EXTERIOR

/3" HORIZONTAL CROSS SECTION

\U Shown w/ Masonry Wire Anchor

EXTERIOR

@/’

©)

28

____ MORTAR REMOVED =
FOR CLARITY. =

INTERIOR

/4

SEENOTE 1

EXTERIOR

AN

AN NN

A A A A AAs

74

ti NN ~

4"\ HORIZONTAL CROSS SECTION

W Shown w/ Steel Stud Anchor

September 9, 2020

S/

i
BUILDING CONSULTANTS,
P.0. Box 230, Valrico, FL. 33595
Phone No.: 813.659.9197

FBPE Registry No. 9813

Documents Prepared By:

Lyndon F. Schmidt
P.E. No. 43409

Ry

PREMIER PRODUCTS, INC.

PRODUCT:

HORIZONTAL
CROSS SECTIONS

LFS
BY

9/08/20 {UPDATE TO 7TH ED. {2020) FBC | LFS| PART OR ASSEMBLY:

9/20/17 |UPDATE TO 6TH ED. (2017) FBC

REVISIONS

2
1

P
<
o
o
z
5

oaTE: 12/11 /1

scale: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—17460.1

sHEET 4 oF 6

© zo1 5 R.W. BUILDING CONSULTANTS INC.



L A U]
o ke 4,,’"/
WOOD/STEEL STUD . § & 1% o
FRAMING (BY OTHERS) i 8- &z 3
MASONRY < S=y 3 A
J— OPENING i SEE 3, |lpgzy®
2> = O:g ". g Z=F Jn
WE o E o5 2®3 ¢ (B9, "B
ATy £ < S E \ %5 F SPSE 808
' '-.‘ iy > " . 4 L y ,,,I ."'~cc.oo .‘. \\\\ S % 8 o‘
L ‘ X /"’ll/, ,* W g ouE
e 1 ggmg
PR — r— ‘5‘ O 8
I ale 8 0 x2 5
e (=] £ £ » Z {13 I
_i-a’i: X N g. Lo 9 c i
‘S oo l® 8* T oot
o [} D em
gf, ¥ 2ol
WOOD STUD g t 6
al3 .
STEEL STUD MASONRY WIRE ANCHOR LOCATIONS 285 R
/ CONCRETE / JAMBS {6 MIN. TOTAL PER JAMB)
JAMB ] (TYP.) J
FRAME ANCHORS FRAME o = (2’
1 32 2 = - ©
) JAMBS L o S
9 O (TYP) - 2 S
o _. o _. ‘ S |32
> oo > a- x of <
< < Q. =
MASONRY e e IO I
OPENING i - W9 <
~ ™~ oS x
CONCRETE CONCRETE CONCRETE al & |
A SILL — SILL . SILL b g
e ANCHORS 0 % ANCHORS % % ANCHORS ol
"Q. .. g=3m
e | | It JOINT
S| — e —_ — {FROM BOTTOM) ?é o
St ! - I - | S I . A L St
L -"..' .t".:.. :'~‘.'- ‘..~4~,‘ % e e >4 ’ . ‘ "‘r, * sy .‘-..v .j.'.:.- v s .‘ 8"\\
M "‘"'-'1 -"“1"."“"~’:" ct av. s ." R a . ?x,‘-'. -"ﬂ“".‘g..,":." ..‘ ><.—~ 8‘_
(TYP,) mp) L E Bls| [
FRAME ANCHORING = 2
Masonry Construction FRAME ANCHORING FRAME ANCHORING ~E| 2
ry Wood/Steel Stud C : olo| &
Concrete Anchors Masonry Construction Clo
Masonry Wire Anchors o
<
CONCRETE ANCHOR NOTES: W\ DQ. né_

1. Concrefe screw locations at the corers may be adjusted to maintain a minimum 1" edge distance fo \ 212
mortar joints. If concrete screw locations noted as "MAX. O.C." must be adjusted to maintain the minimum i~
edge distance to mortar joints, additional concrete screws may be required to ensure the maximum on @ | ]@ A\
center dimension is not exceeded. \@ 3 & <

2. Concrete anchor table: Sl ©
NF%

: LANON l m oate: 12/11/15
]
CONCRETE|  JAMBS 3/¢"  |LDT TAPCON® (ITW BUILDEX) 3 1-1/2° SCAE:  N.T.S.
ANCHOR ) \! DWG. BY: JK
u TAPCON® (1TW BUILDEX) . A\Y
SILL 1/4 X .
SCREW A ULTRACON+® (DewALT) 2z 1-3/4 cHc. B LFS
CONCRETE STRIKE DETAIL DRAWING NO.:
SLEEVE JAMBS 3" |DYNABOLTSLEEVEANCHOR®| . 112" Latch & Deadbolt FL—17460.1
ANCHOR (ITW REDHEAD)
SHEET 5 oF 6

R:\Clients\Premier Products PERMANENT\A - Florida Product Approvals\FL-17460\C - Drawings\FL-17460 (2020)\FL-17460.1-4.dwg, 5.1

© 2015 R.W. BUILDING CONSULTANTS ING.



RA\Clients\Premier Products PERMANENT\A - Florida Product Approvals\FL-17460\C - Drawings\FL-17460 (2020)\FL-17460.1-4.dwg, 6.1

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

C | 1/4" MAX. SHIM SPACE -

E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK (GROUT FILLED) CONFORMING TO ASTM C90

H |1/4"X2-1/4" PFH CONCRETE SCREW (SEE CONCRETE ANCHOR TABLE) STEEL
J | 3/8"X 5" PFH DYNABOLT SLEEVE ANCHOR (SEE CONCRETE ANCHOR TABLE) STEEL
K | 3/8"X5"FHLAG SCREW (2-1/8" MIN. EMBEDMENT) STEEL
L | 3/8"@ SMS (MUST PENETRATE MIN. 3 THREADS THROUGH STEEL STUD) STEEL
M | 3/8"X 5"LDT TAPCON CONCRETE SCREW (SEE CONCRETE ANCHOR TABLE) STEEL
X | STEEL STUD (0.125" MIN. THK, Fu = 50 ksi, Fy = 33 ksi) STEEL

1 | STEEL DOOR PANEL -

2 | HOLLOW METAL FRAME (16 GA) STEEL
8 | WEATHERSTRIP (PEMKO $88) STEEL
9 [41/2"X4-1/2"HINGE STEEL
10 | #12-24 X 1/2" PFH MACHINE SCREW STEEL
16 | LATCH STRIKE PLATE STEEL
17 | DEADBOLT STRIKE PLATE STEEL
18 | #12X1"FH SCREW STEEL
27 | FRAME STRIKE REINFORCEMENT (14 GA) STEEL
28 | FRAME HINGE REINFORCEMENT (9 GA) STEEL
30 | MASONRY T' ANCHOR STEEL
31 | EXISITNG WALL ANCHOR STEEL
32 | WIRE ANCHOR STEEL
40 | THRESHOLD (PEMKO 181 V) ALUMINUM

13.75" -
1.75"

5

O 0 & O

5.5||

<_2“}.}

30 MASONRY 'T" ANCHOR
16 GA STEEL

g

575"

- 1.94" ——-l

|

0.053"

—

?

1-‘* 1.56" —

@ HOLLOW METAL FRAME

4.99"

0.62" —>1

‘ M

. THRESHOLD

2.5"

@ EXISTING WALL ANCHOR

L

5.63"

9'501

(::) WIRE ANCHOR
9 GA STEEL

.........

September 9, 2020

7,
(s
% 3
A
66 428
E°:<=Jn
g_:zi_l,\
§Ql;°:.“-mn
‘HSE sam
."é'atZoc;m
S £
> 1069
» 5>4n2Z
\ 252
o OI’)w-u
&, SN2
v B O xZ0
EEp Zm T
s 8 8§ 2w
E4Y 599§
L T¢ maddi
s u
< 0
[ =
£ 6% §
3 U .
Fl R
8 X
O
< 0
-t
o
) Ll
3 |y 58
S |3 =%
L
Q 53
[V
L 0%
Elo @
Y| x
2l a
(o]
o
Q.

LFS
Y

9/08/20 |UPDATE TO 7TH ED. (2020) FBC |LFS| PART OR ASSEMBLY:

9/20/17 |UPDATE TO 6TH ED. (2017) FBC

2

-—

REVISIONS

Lu
<€
()
S
prd
5

oATE: 12/11 /1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-17460.1

SHEET 6 OF 6

© 2015 R.W. BUILDING CONSULTANTS ING.



